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| A ZnE4 B GROSS | HDCP_ | NET fii# Jigfr BINE4 H GROSS | HDCP | NET {5
| E e 39 39| 3.6| 35.4 41 fir | FaG B— 51 51| 12.0| 39.0
EGE | 1) Tk 43 43| 7.2| 358 42 fir | 1)1 B— 45 45|  6.0| 39.0
B EE W 43 43| 7.2| 35.8 43 fi | B8 IE 51 51| 12.0] 39.0
4 7| dels FoRl 49 19| 13.2] 35.8 744 ) )iln fngk 45 45| 6.0] 39.0
5 fL|FER {RAL 42 42 6.0 36.0 745 fin| Bh %08 51 51| 12.0| 39.0
6 D Foi & 53 53| 16.8] 36.2 46 i | &F BE—I8 50 50| 10.8] 39.2
(7 Ir) BEs B 41 41 4.8| 36.2 47 fr | = F 44 44 4.8| 39.2
ARG ML R 40 40| 3.6| 36.4 48 fir | ER B 50 50| 10.8] 39.2
~9 0| Ak BE 40 40| 3.6| 36.4 49 i | GHE BB 50 50 10.8] 39.2
0N | BB %Al 46 46| 9.6| 36.4 50 fir| $hA & 50 50| 10.8| 39.2
11 )| %k BR 45 45| 8.4] 36.6 5117 | RE R 44 44| 4.8 39.2
12 {ir | hnfg = 45 45 8.4] 36.6 52 A\ | K Fnsk 49 49 9.6 39.4
13 {if |ATE P& 45 45 8.4 36.6 53 i | FFE #R 43 43 3.6] 39.4
14 {7 | 385 58 44 44 7.2 36.8 54 {7 | P E P 43 43 3.6/ 39.4
'IS"%;I (Lt Br=#5 44 44 7.2 36.8 /55 i | #EE JB 49 49 9.6 39.4
16 P | 54T ff— 44 44 7.2| 36.8 56 47 | HEFY i 48 48 8.4] 39.6
17 i |BTH &5 44 44 7.2| 36.8 57 {if | FIRA B 48 48 8.4] 39.6
18 {if |FEgE E{E 44 44 7.2| 36.8 58 fiz | AL £5 47 47 7.2] 39.8
19 i | )|y E— 43 43 6.0/ 37.0 59 {ir | #H \A 53 53| 13.2] 39.8
20 0y B ¥Efn 49 49| 12.0| 37.0 /B0fL | Ak BE 52 52| 12.0] 40.0
21 {7 | th#t e 43 43| 6.0] 37.0 617hL | 4B —i¥ 46 46| 6.0] 40.0
N Ak T 43 43|  6.0| 37.0 62 ir | Bk 7% 46 46| 6.0 40.0
23 fif | b/ BE RBAL 47 47| 9.6| 37.4 63 fif | A NE 46 46| 6.0] 40.0
24 L | #H 47 47 9.6| 37.4 64 i | AZE B 46 46 6.0 40.0
25 L | THE W 47 47 9.6| 37.4 65 B R BJK 50 50 9.6] 40.4
26 0 | M il 46 46 8.4| 37.6 fé%’;m M H 56 56| 15.6] 40.4
27 fir |H 46 46| 8.4| 37.6 67 fir | #HE NETF 55 55| 14.4| 40.6
28 fr | #fiL FEA 39 39 1.2| 37.8|BGJ 68 fir | &M A= 49 | 49 8.4| 40.6
29 {i |fe HEE 51 51| 13.2]| 37.8 69 L | WF #5% 51 51 9.6] 41.4
ERTAEITE S 39 39| 12| 3.8 B B KAR H#E 51 51  9.6] 41.4
31 fr [BEH B 50 50| 12.0] 38.0 B™ M| A& #FA 59 59| 15.6] 43.4
32 i | iy 18 44 ' 44 6.0/ 38.0
B3N T & 49 49| 10.8] 38.2
34 [ KE S 43 43| 4.8| 38.2
35hL{ A HE T 43 43 4.8] 38.2
36 7| #H HE 42 42 3.6| 38.4
37 fir | luF RSB 48 48 9.6| 238.4
38 fr |=FE %B 47 47 8.4| 38.6
39 fr )iA = 53 53| 14.4| 38.6
A0 i | HEL ACE 46 46 7.2| 38.8
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FIBALERE :  Fl(@WVIE) - HENT 1 UhSEWVIE) Fll : %0 748 5H20H (k)
JE{L BINEL i) GROSS | HDCP | NET fii= [0 BINEL 7 GROSS | HDCP | NET %=
& B ZES filx 43 43| 7.2| 35.8 41 {7 | B8 Ei 56 56| 16.8| 39.2
MR | )11 T 43 43| 7.2| 35.8 42 {7 | iy sk 50 50 10.8| 39.2
S| R B— 43 43 7.2| 35.8 43 (L | A R 44 44 4.8| 39.2
4 RL /e Rk 48 48| 12.0| 36.0 44 i) B H= 49 49| 9.6 39.4
5 0|44 ER 36 36| 0.0| 36.0/BG A5 i | O IF 49 49 9.6| 39.4
6 LM #— 41 41| 4.8| 36.2 46 fir | #2)1] BRHE 49 49| 9.6| 39.4
(@A ECET 53 53| 16.8] 36.2 47 i | R =HE 49 49 9.6] 39.4
(8 fp|ME ZiE 40 40| 3.6] 36.4 48 i | 854 [ 43 43|  3.8] 39.4
7Y (0| ERE B+ 40 40| 3.6] 36.4 49 fir | FH FEF 55 55| 15.6] 39.4
10 (DB ke 46 46| 9.6| 36.4 B0 fin| KA & 49 49| 9.6 39.4
Al fa|mn 55 49 49| 12.0| 37.0 51 4 | BER B— 48 48] 8.4] 30.6
12707 | A £ 43 43] 6.0 37.0 52 fir | B HHF 54 54| 14.4| 39.6
13 i |t =5 49 49| 12.0| 37.0 53 fif | K 1% 47 47 7.2] 39.8
14 fif |{EHE Wk 48 48| 10.8| 37.2 54 {ir | T % 47 47 7.2] 39.8
15 A W)l % 47 47| 9.8| 37.4 (55 fi |t =FE 53 53] 13.2| 39.8
16 iz |BATF Bk 53 53| 15.6| 37.4 56 fir | #EF Esh 59 59 19.2] 39.8
17 fiL |EF B 46 46 8.4| 37.6 57 fir | = & /¥ 53 53| 13.2]| 39.8
18 fif [FFH BEZ 46 46 8.4| 37.6 58 iz | & A W= 47 47 7.21 39.8
19 i | B #/FE 46 46 8.4| 37.6 59 fif | ILMA fihE 46 46 6.0 40.0
20 fip| &8 EA 46 46 8.4| 37.6 60fn| AR ¥ 46 46 6.0/ 40.0
2070 [ bk #9 51 51| 13.2| 37.8 61 ff | 8 FK 52 52| 12.0) 40.0
2‘2’1@ Fom #E 45 45 7.2] 37.8 62 (L | R RIE 46 46 6.0/ 40.0
2370 | AR AT 45 45 7.2| 37.8 63 (| A4 B 52 52| 12.0] 40.0
24 1|3 &S 51 51| 13.2| . 37.8 64 fir | ML B 52 52| 12.0] 40.0
25 i | KR E 50 50| 12.0] 38.0 65 (| &8 IEME 50 50 9.6 40.4
26 {7 | 1A ¥ 44 44 6.0/ 38.0 i | iR IEM 44 44 3.6] 40.4
27 {7 | #% M— 44 44 6.0/ 38.0 67 i | thit 2 55 55| 14.4| 40.6
28 i |kH #iL 44 44 6.0/ 38.0 68 {ir | P Tk 48 48 7.2 40.8
29 {7 |kt FoA 44 44 6.0/ 38.0 69 i [fEx A TE 48 48 7.2| 40.8
30 fiL | —Z 50 50/ 12.0] 38.0 70 fiz| ) EXE 54 54| 13.2| 40.8
311 | B Es 43 43| 4.8| 38.2 71 iz | THE 3% 47 47|  6.0| 41.0
32 {r |fEM IEIR 42 42 3.6 38.4 72 fir | BBE IEE 47 47 6.0 41.0
BTN a4k HER 42 42 3.6 38.4 73 i | \JF HkE 44 44 2.4 41.6
34T | HF 42 42| 3.6] 384 4 {ir | /NT HEF 50 50| 8.4| 41.6
35 L |l gh 47 47| 8.4 38.8 75 40| PR B 54 54| 12.0| 42.0
360z | Tt TEAER 46 46| 7.2| 38.8 B__B|miE %#¥ 52 52| 9.6] 42.4
37 fir | KEF BBF 46 46| 7.2| 38.8 B M| g B 47 471 3.6] 43.4
38 fir |EA B 57 57| 18.0| 39.0 2
39 i |8 ik 45 45 6.0/ 39.0
40 i | )iy 3m3E 45 45 6.0 39.0




